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1.Find 2233 (10%).
(Gx* -17)

2If f isthe identity function defined by f(x)=x then D x=1 (10%).

3.Find the equation of the tangent to the hyperbola 4x* —9y” =36  at the point (6,2\/ 3 ) (15%).

4.Find value of the function { \/ —dx  (10%).
x°+9
5.Differentiate  y = —-—1—;x3 and simplify the result.  (10%).
(x+1)3

6.Solve the system

x+3y—-2z=11

4x -2y+z=-15 by Cramer’s rule.  (20%).

3x+4y—-z=3

TIf Fix,y,z)=x"e”" —ysin(x—z)=0 defines z implicitly as a function of x and p in some rectangular
Y Y &

domain, find 2 and (25%).
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